VERSION:A1 DATE:20190312

40mm 230V~

Rotary Hammer
CT18118/CT18118 V

CrROWN

/
i
oty ) | | /
/

A\ 4 { T A =
) NG BT
/IAII;/V Ou 4// \Q!iw
~ Ny
2/ @ \nﬁ
b/ W' £




CT18118

1 5001811800101 KOMMa4oK 3aLlUnTHbIN

2 5001811800201 cTonopHoe konbLo\d28

3 5001811800301 LLlan6a MonsyHa

4 5001811800401 Mon3yH

5 5001811800501 CranbHon Wap \ ®8x19.5

6 5001811800601 MpyxnHa\47x42.5x2.5x64

7 5001811800701 Larnba \ 47.5x30x5

8 5001811800801 Lanba \ ©54x42.2x2

9 5001811800901 AHTUBMGpaumnoHHoe PeanHosoe Konbuo \ d55x42x5
10 5001811801001 O KonbLo\d58x2.5

11 5001811801101 MoawwnnHmk ckonbxeHus \ P58x48x27.5
12 5001811801201 Mnb3a yunnHapa\48x42x17

13 5001811801301 cTonopHoe konbLo\d®42

14 5001811801401 CanbHuk\®53x42x7

15 5001811801501 cTornopHoe konbLo\d58

16 5001811801601 'vnb3a 3awmTHoro Konbua

17 5001811801701 YnnotHutensHoe Konbuo \ ®30x2

18 5001811801801 YaapHuk

19 5001811801901 O KonbLo\®17x2.65

20 5001811802001 Lan6a\d34x15x10

21 5001811802101 AHTMBUGpaLnoHHoe PeanHoBoe Konbuo \ d34x16x8.5
22 5001811802201 LLanba \ ®34x14.8x4.5

23 5001811802301 LWTndpT \ 09.8x6.5

24 5001811802401 Lunuuop

25 5001811802501 BapaH

26 5001811802601 O Konbuo\®22.3x3.5

27 5001811802701 wanba

28 5001811802801 MpyxunHa YcTtaHoBoYHOM BTynkn

29 5001811802901 MpyxuHa CuenneHns

30 5001811803001 YcTtaHoBo4vHas Brynka

31 5001811803101 MydTa

32 5001811803201 CrtonopHoe konbLo\®33x1.2

33 5001811803301 Kopnyc pegyktopa

34 5001811803401 BTynka 60nbLUOM KOHNYECKOW LUECTEPHU
35 5001811803501 Lanba $53.5x43.5x0.3

36 5001811803601 Bonbluas KoHMYeckas WwecTepHs

37 5001811803701 YnnoTtHutenobHoe konbuo\d24x2

38 5001811803801 MopleHb

39 5001811803901 waTyH




40 5001811804001 WronbyaTbin noawmnHmMk\NK1012
41 5001811804101 MopwHeson Maneu \ ®8x24

42 5001811804201 YNnoTHUTENbHOE KOMbLIO

43 5001811804301 Kpbiwka Kopobku MNepenay

44 5001811804401 BuHT\M5x25

45 5001811804501 LUnnHaens nepekniovaTens pexnmos
46 5001811804601 YnnoTtHutensHoe konbLo\dP15xP2
47 34712800101 CronopHoe konbLo\P19

48 5001811804801 Py4ka nepekntoyeHns pexxumon
49 34733300201 BonT\M4x12

50 5001811805001 MpyxwnHa\4.2x0.5x20

51 5001811805101 3anopHbI 6ok

52 5001811805201 BTynka nronb4atoro noalwmnHuka \14x22x20.5
53 5001811805301 Mronbuatbin MoawmnHnk\K141810
54 5001811805401 LWan6a\d®26x14x1

55 5001811805501 MoawnnHnK\AxK1528

56 5001811805601 CepaeyHuk Koneca

57 5001811805701 MpyxwuHa\ 5.8x1.2x15.3

58 5001811805801 ponuk\6x6

59 5001811805901 bonblias wecrepHsa

60 5001811806001 Lanba \ ©61.5x14.1x1.5

61 5001811806101 Manags 3y6yaTas nepegava

62 34706700301 BonT\M5x12

63 5001811806301 LLan6eN20x5.2x2

64 5001811806401 KpusoLumn

65 5001811806501 MoawwnHuk \ 6004.RS

66 34714800201 crtonopHoe Konbuo\d20

67 5001811806701 LlectepHsa nepBas nepegauu
68 35401201501 MNoawmnHnk\6000.2 Z

69 5001811806901 YNnoTHUTENbHOE KOnbL,O

70 5001811807001 WtndT B4x16

71 5001811807101 OcHoBaHwve penykTopa

72 5001811807201 CanbHuk\®12x22x4.5

73 5001811807301 LLlan6a\22x18x0.5

74 5001811807401 YnnotHutTenbHoe KonbLo\P28x2
75 35400100501 MoawnnHnk\6001.2 RS

76 5001811807601 PoTtop

77 5001811807701 LWanba ©16.5xP8.1x0.5

78 35400203801 MoawwnnHuk 608,2 RS




79 5001811807901 CraTop 1
80 5001811808001 Oednektop 1
81 5001802105801 BuHT\ST4.8x60F 2
82 5001811808201 BuHT\M5x55 6
83 5001811808301 Kopnyc aBuratens 1
84 5001811808401 WHaykTop 1
85 5001811808501 anka \M4x12 2
86 5001811808601 YronbHble LLeTkn 2
87 34718800101 BUHT\ST4x10F 2
88 5001811808801 LwieTkogepxarenb 2
89 5001811808901 MpyxwuHa 2
90 34719200201 BuHT\M4x10 2
91 5001811809101 HWKHSAA KpbILLKa 1
92 34728100201 BUHT\ST4X16F 4
93 5001811809301 MpyxnHa\12.5x1.8x32 1
94 5001811809401 AHTN-BrnbpaunoHHbie LLanbbl 1
95 5001811809501 BonT\M10 1
96 5001811809601 BepxHaa AmopTusmpytowas PeanHa 1
97 5001811809701 Pyuka 1
98 5001811809801 HwxHsaa Jemndupytowas PesnHa 1
99 5001811809901 BbikntovaTtens 1
100 37400300302 KonpeHcaTop 1
101 | 34727600501 BuHT\ST4x12F 2
102 5001811810201 MpwxnMHasa nnacTuHa 1
103 | 5001811810301 3awwTa kabens 1
104 | 5001811810401 Kabenb 1
105 5001811810501 BuHT\ ST4.2x22 4
107 5001811810701 XomyT 1
108 5001811810801 KpoHLuTeiH 1
109 | 5001811810901 B1HT\M8X35 1
110 5001811811001 HenoaswxHbIn Brok 1
111 5001811811101 BcnomoratensHas Pyuka 1
112 5001811811201 BonnoyHbin kpyr 2
113 | 5001811811301 LLinoHka 4X4X10 1
114 34714000301 CrtonopHoe Konbuo $15\
115# | 5001811811501 Perynatop

[ e e S




